








(b) Five men in a company or twenty are graduates. If 3 men are picked out of
20 at random. What is the probability that

(i) They are all graduates

(i) At least one is graduate. (2+3=05)

(¢) The probability of a student A passing examination 1s g and of student B

. . 5 o » “ » =
passing 1s = Assume the two events “A passes”, “B passes as independent.

Find the probability of
(i) Only A is passing the exam.

(i1) Only one of'them is passing the exam. (2 + 3=15)

4. Answer the following :
(a) Find the mean and the variance of Binomial disiribution. (2+3=5)
(b) Fit a Poisson distribution to the following : | (5)
x: 0 1 234

f: 46382291

(¢) Assuming that the diameters of 1000 brass plugs taken consecutively from a
machine form a normal distribution with mean 0.7515 ecm and standard
deviation 0.002 cm. How many of the plugs are likely to be rejected if the -
approved diameter is 0.752 + 0.004 cm. : 5)

5. Answer the following :
(a) Find the mean, median and mode of the following data : 1+2+2=5)
Mid value : 15 20 25 30 35 40 45 50 55
Frequency : 2 221914 3 4 6 1 1
(b) The first four moments of a distribution about the value 3 are 2, 10, 40 and
218 respectively. Find the moments about the origin and mean. (5)
(¢) Find the co-efficient of correlation from the following data : (5)
x: 65 63 67 64 68 62 70 66 |
y: 68 66 68 65 69 66 68 65
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